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RESENJA ZADATAKA

1.a) I, =1mA, I, =ImA, R =16kQ, R, = 44kQ.

) &, =2 = (- gu(RIIr,.)) - 0,u(R IR, )) = 5203
¢) R, =1, = 25kQ R, =R, =5kQ

d) Vo = 38V (Q, na granici zasenja)
Voin = —333V (Q, na granici zakeenja)
V,=0

memax = min{VPmaX Ve, Ve _VPmin} =333V

4.

VI[V]=V, +Vg|=1.4V=const, za -3V <v; < - 14V (IOP- lin. rezim, D,-OFF, Q -OFF, D,-ON,
Q,-DAR);

v[V]=-vV], za-14V < v, < 1.4V (IOP-lin. rezim, D, -OFF, Q -OFF, D,-OFF, Q,-OFF);
V[V]=-V, = Vg =-14V =const, za1.4V<y, < 3V (IOP- lin. rezim, D;-ON, Q-DAR, D,-OFF,
Q,-OFF).



